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Fa HH HfT 1A17TH 2A7H 3ATH 47 11H 5H23H 6A13H TH4H 8A8H 9H14H 10A3H 11A21H | 12H12H
Kl | Al BB W 4y 11:10 11:10 9:35 10:40 9:15 10:50 10:40 10:50 11:05 11:00 10:55 10:55
K2 A2 PR AL i/ it L it L it L it L it L ety ety ety sty ety ety
K3 | A3 PN A 2 it £ 5 2 i} i} £ i} £ £
K4 | A IKAL n 20. 16 20. 16 20. 31 20. 25 20.75 20. 31 20. 24 20. 07 20. 08 20. 08 20. 41 20. 14
K5 = A5 HiDE:s n’/sec 12. 40 10. 33 31.98 — 123.31 40. 90 30. 92 11.80 26. 02 24. 37 55. 59 19. 67
K6 | A6 ARG n 0.57 0. 62 0.74 0.70 1.24 0.73 0. 66 0. 54 0. 60 0.70 0.97 0.69
K7 | A7 BRI n 0.11 0.12 0.15 0.14 0.25 0.15 0.13 0.11 0.12 0.14 0.19 0.14
K8 | A8 SR C -2.6 -4.1 -0.2 7.9 13.5 15.8 23.2 29. 8 21.3 17.3 9.3 -1.7
K9 | A9 K C 0.2 0.2 0.3 5.6 11.1 13.4 20. 6 27.5 19.8 16.7 4.8 0.8
K10 = A10 AL (1) a3z MmEEH | BOmal | RIKERE Wt | AR | RIKEE | EEFED | RIKEE  BAmaE | ReEaE | RABaE
K11 | K11 S8 (2) N N e g e g N N e gL gL gL gL gL gL
K12 | K12 S8 (3) — — A A W%l A A — WL | WYZL | WLWEL | EWLZL
K13 | K13 S8 (4) — — — — — — — — — — — —
K14 | Al4 R (R I 5L I 5L I 5 I 5L I 5L I 5L B I 5L I 5L I 5L B Bl
K15 | Al5 FHLE em 77.8 >100. 0 8.9 26. 1 6.0 20. 6 15.9 71.4 9.9 18.0 6.1 18.1
K17 | A17 Tz 45 — — — — — — — — — — — —
K18 | Al8 it 1 FRE FE 4y — — — — — — — — — — — —
K21 | BI pH 7.9 7.8 7.6 — 7.7 — — 8.1 — — 7.9 —
K22 B2 BOD mg/1 <0.5 <0.5 <0.5 — <0.5 — — <0.5 — — <0.5 —
K23 B3 COD mg/1 1.5 1.3 3.0 — — — — — — — — —
K24 B4 SS mg/1 6 4 42 — 130 — — 6 — — 120 —
K25  BS5 DO mg/1 14 14 14 — 12 — — 8.5 — — 13 —
K27 | B7 KN B RESK MPN/100ml | 3.3 31 2.3 %1 3.3 %2 — 4.9 %2 — — 2.2 %1 — — 3.3 %2 —
K134 | D4 k) mg/1 — — — — 0. 009 — — <0. 001 — — 0. 007 —
K242 G2 il S 7 3 98 17 270 33 43 4 110 150 210 51
K1362) X62 SR RS | 8/100m] 0 0 5.5 %1 — 6.5 %1 — — 0 — — 5.0 %1 —






